
                 
Manufacturers and Distri butors of quality chassis,

suspension, driveline and components

Tech Line & Information: 

Orders Only: 

Fax: 

(561) 863-2188

(800) 327-9402
(561) 863-1424

 
 

 

C/E 4005 – Gas Pedal Linkage Kit 
 

 
PARTS LIST: 
1… 23” Aluminum Rod - Tapped  2…1/4” Misalignment Bushing 
1… 1/4" R/H Rod End    1… 1/4" R/H Rod End with Stud 
1… 1/4" x 1” Bolt    1… 1/4” x 1-1/2” Bolt 
2… 1/4” Nylock Nuts    2… 1/4” Flat Washers 

  
 
1...Bolt the 1/4” rod end to the carburetor using the spacer bushings and either the 1” or 1-1/4” bolt provided. 
Depending upon your return spring configuration you may have to rearrange the spacers to make everything 
line up.  
 
2...Bolt the 1/4” rod end, with the integral stud, to the gas pedal.  Check the fit for proper clearance and 
function. 
 
3...You will need to align the rod from the carburetor to the gas pedal and drill a hole through the firewall. 
 
4...You may need to cut and or bend the rod to fit. The rod must work in line with the carburetor so there is no 
side load on the carb linkage. If you cut the rod you may need to re-thread it. Drill the rod using a 7/32" drill bit 
and tap with a 1/4"x 28 tap. 
 
5...Assemble the rod and rod ends using a small amount of anti-seize on the threads.  Reinstall the linkage and 
make sure there is no binding or interference.  
 
6…Once satisfied with the operation, tighten the rod end jam nuts and all the attachment hardware. 

 


